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9 IF fafe sec 6 + tan 6 = 12.5, then /aY FTT F<
SecO0-tan 0 +0.96=7?
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Three — sevenths of my current age is the same as four —
fifths of that of one of my cousin’s. My age three years
ago will be his age ten years hence, My current age is
years

AL TAAT ST & 3/7 TAACE A AT HiT ST 4/5 % A

SYU3TTIRA TAME XA F 10 TTF I H MY & ,aT A4
TIHTT ST FIT hifor ? (a) 21
(b) 35
(c) 28

(d) 42
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The mean of three numbers is 21. The range of this
data set is 19 while the difference between the two
smallest numbers is 5. the greatest of the three
numbers is

3 TEIT FT AT 21 & ,TAT 909 19 g I < =t |aren
FT AL 52,7 ST A1 & G99 T8 AT 79 HL? @ 27

(b) 29
(c) 30
(d) 32
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| 5 The initial ratio of sugar and flour in mixture was
17:28. with 27 kg of the mixture , sunita added more

flour to make the sugar to flour ratio 2:5. How much

flour did Sunita later add?

TF Ao 7 AT AT A F AqUTq 17:28 § T 27 fFemy

TRrsor / faa=T i< streT A= Sirart § #t AT 2;5 86 |

E|'|_cng? (@) 8.1kg i
(b) 803 kg
(c) 8.5kg ||l
(d) 8.7 kg
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Ratio of te day required by A and B to completesome
6 work is 3:5 , They require 5(5/8) days to complete the work
,In how many days can A alone complete twice the work ?

FS A G FLA & 1T A 3 B g7 a9 faq & squma
3:5 g, S5 FIH LU FLA & forg 5 (5/8) foAT FT rarsA=hvar grat
g, i A A FH QT FTAFATS?

(a) 8 days
(b) 9 days
(c) 18 days
(d) 15 days




] 7 Two pipes fill a tank when working individually in 5 hours and 8 “
hours respectively while a third pipe can drain the filled tankin §
1.2 hours .If all the thee pipes are turned on at the same time ! |
when the tank is full ,how long will it take to empty the tank
completely?

W 2y qrea e 5 ol 8 W F kA FF A A TN & T T |u
' ?ﬂWW12ﬂ%ﬁ'ﬁ§Q3ﬁ?ﬂﬁ'@Fﬂ'ﬂT{W mﬁ%&m

' (b) 9 (59/48)
! hr
L % (c) 3 8hour ,.
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| g If/ af sine-cos 6= 0,then find the value
( of AT T Y

il

,

sino + cos#o + tan20 - sin20
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The sum of two number is 9 .The sum of their
reciprocal is 2 .one of the number is

gra'@gaﬁ FTIRT 9 T | STF FGHT FTANT 1/2 8 | AT H
TH

! -~
.
. l

(a) 2
(b) 6
(€) 3
(d) 4




cot4e + cot? 0 = 52 find/fTq HC
cosec? 0 - cosec? 0




The price of rice mcreased by 25% a man can
purchase 2kg less for rupee 80 ,find the initial
quantity(in kg) ?

|TaS H HHT A 25% Fit I g2 TH ASHT 80 TqT A 2
ﬁm‘rmaﬁaw g , SLEATAT ATAT FT TQqT AT (Fhe)

(a) 10

(b) 8
(c) 5
(d) 6




The vessel contains some litre of pure milk 10 litre is
taken out and replaced with 10 litre water this process
repeated one more time , now ratio becomes milk to

‘ water is 225:64 find the initial quantity of pure milk

N FEE W T AR g8 39 8 10 X T e srarg l'
N s 10 sfe ol ¥ aryr R P smaT € 5@ s @ '

TF T AT AGIAT ST §, T AT g8 A< 85 |
- 225:64 Q7 LS 39 BT IIINE ATAT 7 9T |

b) 68

' )55 |
(d) 48
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When A man sold some oranges @ 12 for 1,and he gain
25%.find the cost price of 120 oranges ?

S T AMEHT 1 TqCH 12 FT A F qaLd9ar g, T Q0
25% FTATH Frar g, 120 A< H AWT G ATT FHL ?




In right angle triangle ABC, AB= 18 cm BC =24 cm
respectively ,find the distance between incentre and

circumcentre (cm)
TF gHHI0 st ABC ,iSra® AB =18 cm,BC=24 cm
FHHL:, T TTT FU e M TR & 7 (AHT)?

(a) 3vV5
(b) 6v5
(c) 55
(d) 445

il 3 om B 1

i
|




If length of median of triangle PQR are PA,QB and RC
are of 20,21,29 cm respectively , the find the area of
triangle PQR

g Breror PQR #t wrfeasret it e €,PA, QB it RC
FHL: 20,21,29 YT F g, B*Ior PQR 1 &7 10 FL ?

(a) 280c
(b) 260c
(c) 540c
(d) 390
cm?







! 1 By selling 33m. Cloth, a shopkeeper loses money
equivalent to selling price of 11 m. Find his loss
If [ percentage?
33 HY. FUET d=HL, T w1 11 HieT Fi fOhl =1
% T T THATT I3TAT gl STFHT THATH TTAqT 7
HS™A? ssc cpo 2020 €)

25%
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is his profit percent?

T SSHTT et fAohat 5%

IR ATH TTALTT AT 872

A dishonest fruit seller sells fruits at 5% loss. If he
uses 850 gm weight in place of 1 kg weight, then what

g 9 &l 99aT1 gl A a8 1
ﬁwﬁm%wwssom@'@mmwia‘r

(a) 11E%

(b) 112%
(c) 11.5%
(d) 12.%
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A cricketer gives 18.4 runs per wicket. He gives 60 runs ‘
and takes 5 wicket in a match after which his average |
O becomes 18 per wicket. How many wickets had been

taken till the last match?
T fFhe wfa fa%e 18.4 T 2T 81 98 TF A9 ¥ 60 T <aT |
5 dre 5 e e & v otz oy oo FEGERGERREY |

STt &1 e A= 9% faw e R o 42 @75 1§
(b)80 |l

(c) 85 )'
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I 9 If/?ﬂ% a=5,b =6, c=-10 then the value of /AT ITd H¥
(a3+b3+c3)—3abc
( (0 (ab+bcrca—a2-b2—c2) * SSC CGL 2018,2012
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] At the centers of two circles, two arcs of equal length
subtend angles of 60° and 75° respectively, the ratio of
| f 1 the radii of the two circles is :

W T F SRl T, GHIT 99Ts & Qb =979 FALT: 600 AT 750 %
| 0T AT 8, T I Dl AT FT AT 3
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(3)5:2 ,i
(b)5:4 ’I
(c)3:4 '
d)2:1
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